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9 :RETURN ;NT=8;CLEAR ;BC=248;FC=125;W=1000
19 BOX ©,@,154,684,1;B0X ©,0,150,80.2;B0X 50@,0,2,80,1;BOX -50,0,2,80,1;BOX @,-2
5,98,2,3;G0T0 4@
20 BOX @, -33,98,14,2;FOR A=-48TO 48STEP 3;X=RND (8)+4;BOX A, -48+Xc2,RND (3)+1,
X, L3NEXT A
22 FOR A=-48T0 48STEP 2;FOR B=1TO 2;BOX A,-4@+RND (1@),1,1,2;NEXT Bi;NEXT A;RET
URN
4@ GOSUB 2@;BOX @8,8,98,E4,2
5@ Y=8;2z=8; T=8;S=8;C=5;B0X 68,0,3,3,1;B0X -68,8,3,3,1;U=0;G0TO 31@
51 Cx=-66;CY=-35:PRINT #2,R,;CY=-35;CX=58;PRINT #2,C,;I1=0
55 U=U+1; IF UD7TU=7
56 CY=35;CX=57;PRINT "b",#2,U,
60 &(21)=15;FOR B=1TO 5;FOR A=18TO S@STEP 4;&(139)=A;NEXT A;&(19)=8;NEXT B;FOR
A=BTO BSTEF 3;GOSUB 78@;NEXT A
188 Z=JY(1)bl1@; IF Z=BGOTO 138
183 BROX 68,Y,3,3,2;BOX -6@,Y,3,3,2;IF Y+Z>30Z=0
118 IF Y+2<-182=8
120 Y=Y+Z;BOX €@,Y,3,3,1;BOX -68.Y,3,3,1
13@ FOR A=@TO BSTEP 3;BOX @(A),@(A+1),3,3,2;@(A+1)=C(A+1)+@(A+2);BOX @(A),@(A+1
),3,3,3;NEXT A .
148 IF RIF TR(1)T=1;BOX ©,Y,98,5,3;FOR A=BTO BSTEP 3;IF PX(@(A),@(A+1))=BGOSUB
500
158 IF TNEXT A;T=8;BOX B,Y,98,5,3;R=R-1;CX=-66;CY=-35;PRINT 42,R,
16@ FOR A=@BTO ESTEP 3;IF (@(A+1)>=-4@)b(@(A+1)<=-12)GOSUB 6088
178 NEXT A;IF IGOTO 380
188 GOTO 1@@
398 BOX @,6,98,608,2;NT=2;FOR A=BTO 9;MU="T";NEXT A;NT=8;IF R>BGOSUB 4000
31@ I=B;H=15;R=15;BOX B,6,98,60,2;GOSUB 2000;GCTO 51
408 NT=3;FOR A=1TO 25;MU=RND (13)+64;NEXT A;NT=8;C=C+1;CY=-35;CX=58;FRINT #2,C,

418 BOX B8,-25,98,2,1;W=k+1800; RETURN

SPP &(21)=255;&(23)=255;BOX ®(A),@(A+1),3,3,3;5=5+18bU;GOSUE 780; &(21)=0;&(23)=
9; GOSUB 28106

516 IF S>=WGOSUB 408

528 RETURN

688 BOX @€(R),@(A+1),3,3,3;IF PX(€(A),-26)GO0SUB B88B; RETURN

618 IF C=BGOTO 883

628 CY=-35;CX=58;C=C-1;PRINT #2,C,;&(21)=255;&(23)=255

633 FOR D=1TO 4;FOR B=2T0Q 12STEP 2;&(19)=240;B0OX @(R),-33,B,B,3;NEXT B;NEXT D
640 BOX @(A),-33,12,12,2;GOSUB 780; &(21)=0; &(23)=0; &(139)=0; RETURN

708 H=H-1;IF H<=8I=1;RETURN

710 CX=-66;CY=35;PRINT #2,H,;®(A)=RND (88)-44;@(A+1)=36-RND (3)b2;€(A+2)=-RND (
4)b2Z2-U; RETURN

898 BOX @(R),-25,8,2,2;NT=3;MU="E";NT=0; GOSUE 703; RETURN

SP@ FOR A=1TO S@STEP 2;&(21)=255;&(23)=255;&(19)=108-Ab2; BOX @, -32,88, 16, 3; NEXT
A; &(21)=0; &(23)=0;B0X B, -32,986, 16,2

920 GOSUB 2888;CY=16;CX=-24;PRINT "GAME OVER

938 IF &(23)RUN

848 GOTO S38

Z2B@B CY=48;CX=-42;PRINT " SCORE: -,

2018 CY=40;CX=1;PRINT #5,S,#8, "8";RETURN

4000 FOR P=R-1TO BSTEP -1;CX=-66;CY=-35;PRINT #2,F,;S=S+2bU;NT=1;MU="Q";NT=8;G0S
UB 2818;NEXT P;RETURN
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